FE450: Game Theory

Homework 2
Due Sept. 9th    

Please indicate the students that you worked on this homework assignment with, if any.

From the text:

1. text #27.8
Suppose that a has won more than a half of its games against b, and b has won more than half of its games against c. For example, a won 4 of 7 games with b, and b won 8 of 15 games with c. It is still consistent to have c winning 10 of 18 games with a. Thus, this relationship is not transitive. However, it is complete because either a won more than half the games against b or b won more than half the games against a.

2. text #27.11
Suppose the utility function is given U(c,m) = 10c+m. Since this person is willing to give up a CD for $10, this can be expressed as the 
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3. text #27.19
The expected utility for the Lottery A is 
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. The expected utilty for Lottery B is 
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4. text #27.23
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5. Person 1 cares about both her income and person 2’s income. In fact, the value (or utility) she receives when player 2’s income increases by $1 is ½ the value she receives when her own income increases by $1. For example, she is indifferent between a situation when her income is $1 and when player 2’s income is $2. How do her preferences order the outcomes (1,4), (2,1), and (3,0), where the first number indicates player 1’s income and the second number indicates player 2’s income? Provide a utility function consistent with her preferences.
Player 1 is indifferent between (1,4) and (3,0) and prefers both of these to (2,1).             U(x,y) = x + ½ y (where x is person 1’s income and y is person 2’s income)
6. text #3.1
	H\W
	F
	O

	F
	3,1
	0,-1

	O
	-1,0
	1,3


7. text #3.11
	1\2
	1
	2
	3
	4
	5
	6

	1
	2.5,2.5
	5,0
	5,0
	5,0
	5,0
	5,0

	2
	0,5
	4,4
	8,0
	8,0
	8,0
	8,0

	3
	0,5
	0,8
	4.5,4.5
	9,0
	9,0
	9,0

	4
	0,5
	0,8
	0,9
	4,4
	8,0
	8,0

	5
	0,5
	0,8
	0,9
	0,8
	2.5,2.5
	5,0

	6
	0,5
	0,8
	0,9
	0,8
	0,5
	0,0


8. text #3.12
If the rival’s price is $4 or less, each of the two strategies yields a profit of 0. If the rival’s price is $5, then the latter has a zero profit but the former has a strictly positive profit of $2.50 Finally, if the rival’s price is $6, then the former strategy yields a profit of $5 while the latter yields a profit of $0. Hence the former strategy (weakly) dominates the latter.
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